Name:_______________________

Date:________________________

1.  The diagram below represents reproduction of single-celled organism A, which has a

normal chromosome number of 8.
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In the circles representing offspring 1 and offspring 2, write the number of chromosomes that result from the normal asexual reproduction of organism A. 

Use the information which follows to answer questions 2 and 3.

The diagram below illustrates the process of cell division.
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2.   From left to right, identify each of these stages of cell division and state a reason for 
      your selection.

3.   What is the significance of anaphase in this process?

       (1) Anaphase usually ensures that each daughter cell has the same number of 
             chromosomes as the parent cell.

        (2) Anaphase usually ensures that each daughter cell has twice as many 
              chromosomes as the parent cell.

        (3) In anaphase, the cell splits in half.

        (4) In anaphase, the DNA is being replicated.
